IFB 2016-231 Supplies: Culverts, Bands, Steel, Drop Structures EVALUATION SPREADSHEET

		Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line	Description	Attribute	11014	OTV	1114	Forter Ind	
		Reponse	UOM	QTY	Unit	Extended	
1	Circular Culverts 12" 2 2/3" x 1/2" - 16 gauge		linear foot	9,000	\$6.50	\$58,500.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16', 20', 24, 30'					
2	One piece annular band(s) for Circular Culvert 12" - 2 2/3" x						
	1/2" - 16 gauge		each	11	\$19.50		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
3	Circular Culverts 15" - 2 2/3" x 1/2" - gauge 16		linear foot	10,000	\$7.80	\$78,000.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16' 20', 24', 30'					
4	One piece annular band(s) for Circular Culvert 15" - 2 2/3" x						
	1/2" - gauge 16		each	1	\$23.40		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
5	Circular Culverts 18" 2 2/3" x 1/2" - gauge 16	6,000	linear foot	1	\$9.75		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16', 20', 24' 30'					
6	One piece annular band(s) for Circular Culverts						
	18" - 2 2/3" x 1/2" - gauge 16		each	1	\$29.25		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
7	Circular Culverts 24" - 2 2/3" x 1/2" - gauge 16	•	linear foot	3,600	\$12.35	\$44,460.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16', 20', 24', 30'					

		Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line	Description	Attribute		OTV	11	Forten In I	
8	One piece annular band(s) for Circular Culverts 24" - 2 2/3"	Reponse	UOM	QTY	Unit	Extended	
0	x 1/2" - gauge 16		each	1	\$37.05		
	Attribute 1: Does our company stock quantities of this item in		Cacii	'	ψ57.05		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
9	Circular Culverts 30" - 2 2/3" x 1/2" - 16 gauge	opediai oradi	linear foot	1,000	\$15.60	\$15,600.00	
	Attribute 1: Does our company stock quantities of this item in		iiiioai ioot	1,000	ψ10100	ψ10,000.00	
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16', 20', 24', 30'					
10	One piece annular band(s) for Circular Culvert 30" - 2 2/3" x	10,20,21,00					
10	1/2" - gauge 16		each	1	\$46.80		
	Attribute 1: Does our company stock quantities of this item in		Guoii	•	Ψ-10.00		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
11	Circular Culverts 36" - 2 2/13" x 1/2" - 16 gauge	oposiai orasi	linear foot	1,600	\$18.85	\$30,160.00	
	Attribute 1: Does our company stock quantities of this item in			1,000	· ·	 	
	your inventory	Yes					
	Attribute 2: What quantities are stocked?	16', 20', 24', 30'					
12	One piece annular band(s) for Circular Culverts 36" - 2 2/3"	-, -, , ,					
	x 1/2" - 16 gauge		each	1	\$56.55		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
13	Circular Culverts 42" - 2 2/3" x 1/2" - gauge 16		linear foot	500	\$22.10	\$11,050.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes (minimal)					
	Attribute 2: What quantities are stocked?	16', 20', 24', 30'					
14	One piece annular band(s) for Circular Culverts 42" - 2 2/3"						
	x 1/2" - gauge 16		each	1	\$66.30		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
15	Circular Culverts 48" - 3" x 1" - gauge 16		linear foot	600	\$24.70	\$14,820.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	Yes					

		Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line	Description	Attribute	LIOM	OTV	l lm:4	Evtonded	
	Attribute 2: What quantities are stocked?	Reponse 16', 20', 24', 30'	UOM	QTY	Unit	Extended	
16	Two piece riveted annular band(s) for Circular Culverts 48"	10, 20, 24, 30	+				
10	- 3" x 1" - gauge 16		each	1	\$74.10		
	Attribute 1: Does our company stock quantities of this item in		00011	· · · · · · · · · · · · · · · · · · ·	V 1 111 0		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
17	Circular Culverts 54" - 3" x 1" - gauge 14	,	linear foot	600	\$39.65	\$23,790.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
18	Two piece riveted annular band9s) for Circular Culverts 54"						
	- 3" x 1" - gauge 14		each	1	\$118.95		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
19	Circular Culverts 60" - 3" x 1" - gauge 14		linear foot	1,000	\$43.55	\$43,550.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1"	 				
20	Two piece riveted annular band9s) for Circular Culverts 60"		.				
	- 3" x 1" - gauge 14		each	1	\$130.65		
	Attribute 1: Does our company stock quantities of this item in	.,					
	your inventory	No Consist Contain					
04	Attribute 2: What quantities are stocked?	Special Order	lin a a n fa : t	0.000	\$50.05	#40F 00C 00	
21	Circular Culverts 72" - 3" x 1" - gauge 14		linear foot	2,000	\$52.65	\$105,300.00	
1	Attribute 1: Does our company stock quantities of this item in	Mo					
	your inventory	No					

		Contech Engineered Solutions, Inc., dba Contech Engineere Solutions, LLC				
Line	Description	Attribute				
		Reponse	UOM	QTY	Unit	Extended
	Attribute 2: What quantities are stocked?	made to order -				
		5"x1"				
		corrugation will be subbed for				
		3"x1"				
22	Two wises wiveted annular band/s) for Circular Culverte 7211	3 X I				
22	Two piece riveted annular band(s) for Circular Culverts 72" - 3" x 1" - gauge 14		each	1	\$157.95	
	Attribute 1: Does our company stock quantities of this item in					
	your inventory	No				
	Attribute 2: What quantities are stocked?	Special Order				
23	Circular Culverts 84" - 3" x 1" - gauge 14		linear foot	600	\$61.10	\$36,660.00
	Attribute 1: Does our company stock quantities of this item in					
	your inventory	No				
	Attribute 2: What quantities are stocked?	made to order -				
		5"x1"				
		corrugation will				
		be subbed for				
		3"x1"				
24	Two piece riveted annular band(s) for Circular Culverts 84"					
	- 3" x 1" - gauge 14		each	1	\$183.30	
	Attribute 1: Does our company stock quantities of this item in					
	your inventory	No				
	Attribute 2: What quantities are stocked?	Special Order	lin a nu fa a t	000	#CO 55	* FF 040 00
25	Circular Culverts 96" - 3" x 1" - gauge 14		linear foot	800	\$69.55	\$55,640.00
	Attribute 1: Does our company stock quantities of this item in	Ma				
	your inventory	No made to order -				
	Attribute 2: What quantities are stocked?	5"x1"				
		corrugation will				
		be subbed for				
		3"x1"				
26	Two piece riveted annular band(s) for Circular Culverts 96"	0 7 1				
-	- 3" x 1" - gauge 14		each	1	\$208.65	
	Attribute 1: Does our company stock quantities of this item in				1	
	your inventory	No				

				neered Solutions, Inc., dba Contech Engine Solutions, LLC			
Line	Description	Attribute		O=\(
-	A44.71 to 0 14/1 of a conference of a local policy	Reponse	UOM	QTY	Unit	Extended	
07	Attribute 2: What quantities are stocked?	Special Order	lin on toot	F0	\$407.0E	¢E 202 E0	
27	Circular Culverts 108" - 3" x 1" - gauge 12		linear foot	50	\$107.25	\$5,362.50	
	Attribute 1: Does our company stock quantities of this item in	Mo					
	your inventory Attribute 2: What quantities are stocked?	No made to order -					
	Attribute 2: What quantities are stocked?	5"x1"					
		corrugation will be subbed for					
	T : : : : : : : : : : : : : : : : : : :	3"x1"					
28	Two piece riveted annular band(s) for Circular Culverts				0004 75		
	108" - 3" x 1" - gauge 12		each	11	\$321.75		
	Attribute 1: Does our company stock quantities of this item in	N/-					
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
29	Circular Culverts - 108" diameter riveted band 24" wide, 2				4004 75		
	piece		each	1	\$321.75		
	Attribute 1: Does our company stock quantities of this item in	A./ -					
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order			0440.05	*** *** *** *** ***	
30	Circular Culverts 120" - 3" x 1" - gauge 12		linear foot	300	\$118.65	\$35,595.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
31	Two piece riveted annular bands for Circular Culverts 120" -						
	3" x 1" - gauge 12		each	1	\$355.95		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
32	Circular Culverts 120" diameter river band 24" wide, 2 pc		Ι Τ				
			each	1	\$355.95		

		Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line	Description	Attribute	ном	OTV	l lmi4	Futonded	
	Attribute 1: Does our company stock quantities of this item in	Reponse	UOM	QTY	Unit	Extended	
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
33	Pipe Arch Culverts 53" x 41" - 3" x 1" - gauge 14	Opecial Order	linear foot	500	\$42.00	\$21,000.00	
- 55	Attribute 1: Does our company stock quantities of this item in		iiiloai ioot	000	Ψ42.00	Ψ21,000.00	
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
	Than bate 2. What quantities are stooked.	5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
34	Two-piece riveted annular bands for Pipe Arch Culverts 53"						
0.	x 41" - 3" x 1" - gauge 14		set	1	\$126.00		
	Attribute 1: Does our company stock quantities of this item in				·		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
35	Pipe Arch Culverts 60" x 46" - 3" x 1" - gauge 14	,	linear foot	300	\$45.75	\$13,725.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
36	Two piece riveted annular bands for Pipe Arch Culverts 60"						
	x 46" - 3" x 1" - gauge 14		set	1	\$137.25		
	Attribute 1: Does our company stock quantities of this item in				 		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
37	Pipe Arch Culverts 66" x 51", 3" x 1" - gauge 14	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1"	linear foot	400	\$52.25	\$20,900.00	

				Solutions, Inc., dba Contech Engineered Solutions, LLC			
Line	Description	Attribute Reponse	UOM	QTY	Unit	Extended	
	Attribute 1: Does our company stock quantities of this item in	Keponse	UOIVI	QII	Offic	Extended	
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
38	Two piece riveted annular bands for Pipe Arch Culverts 66"	,		4	¢450.75		
	x 51" - 3" x 1" - gauge 14		set	1	\$156.75		
	Attribute 1: Does our company stock quantities of this item in	No					
	your inventory Attribute 2: What quantities are stocked?	Special Order	+ +				
39	Pipe Arch Culverts 81" x 59", 3" x 1" - gauge 14	Special Older	linear foot	400	\$60.75	\$24,300.00	
- 55	Attribute 1: Does our company stock quantities of this item in		iiileai ioot	400	ψου.73	Ψ24,300.00	
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
	Thin said 2. What quarkings are stocked.	5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
40	Two piece riveted annular bands for Pipe Arch Culverts 81"						
	x 59" - 3" x 1" - gauge 14		set	1	\$182.25		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
41	Pipe Arch Culverts 95" x 67" - 3" x 1" - gauge 12		linear foot	600	\$96.00	\$57,600.00	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order - 5"x1"					
		_					
		corrugation will be subbed for					
		3"x1"					
42	Two piece riveted annual bands for Pipe Arch Culverts	5					
	95" x 56" - 3" x1" - gauge 12		set	1	\$288.00		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
43	Pipe Arch Culverts 112" x 75" - 3" x 1", gauge 12		linear foot	600	\$110.25	\$66,150.00	

		Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line	Description	Attribute		071/			
	Attribute 1: Does our company stock quantities of this item in	Reponse	UOM	QTY	Unit	Extended	
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
	Name of the state of the stat	5"x1"					
		corrugation will					
		be subbed for					
		3"x1"					
44	Two-piece riveted annular band(s) for Pipe Arch Culverts						
	112" x 75" - 3" x 1" - gauge 12						
			set	1	\$330.75		
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
45	Pipe Arch Culverts 128" x 83" - 3" x 1" - gauge 16		linear foot	350	\$158.25	\$55,387.50	
	Attribute 1: Does our company stock quantities of this item in						
	your inventory	No					
	Attribute 2: What quantities are stocked?	made to order -					
		5"x1"					
		corrugation will					
		be subbed for					
		3"x1" - offered in					
		10GA; 16GA not					
46	Two wises wheeterd annual on hear de few Dires Arch Outroute	safe					
46	Two piece riveted annular bands for Pipe Arch Culverts						
	128" x 83" - e" x 1" - gauge 10		set	1	\$474.75		
	Attribute 1: Does our company stock quantities of this item in		361	ı	φ414.13		
	your inventory	No					
	Attribute 2: What quantities are stocked?	Special Order					
47	Drop Structure	Special Older					
**	48" diameter inlet 7' long welded to 90 degree elbow with a						
	36" diameter outlet 26' long from elbow outlet made with 16						
	gauge galvanized corrugated metal pipe with 2" wide band.						
	gaage garrameed corrugated motal pipe milit 2 mide build.		each	1	\$2,730.00		

	Description	Contech Engineered Solutions, Inc., dba Contech Engineered Solutions, LLC					
Line		Attribute					
		Reponse	UOM	QTY	Unit	Extended	
51	Is there an additional fee of any kind for requesting items						
	in a shorter period of time than is stated as normal in the						
	specifications? If so, please state that fee.	Contech					
		proposes to					
		waive the					
		\$550.00 delivery					
		fee if the County					
		can accept a					
		leadtime of 3					
		weeks on all bid					
		items. If the					
		County needs					
		material faster					
		than 3 weeks, a					
		\$550 per					
		shipment charge					
		will apply.	lump sum	1	\$550.00		
52	If items are NOT stocked, what is the minimum delivery	2-3 weeks is our					
	time for such items.	average; it is					
		dependent on					
		where the mill is					
		at in their					
		schedule		1			
				Total		\$817,550	